| can read scales to the nearest division or half-division.

Work out the measurement shown by each arrow.

0 10 20 30 40
el Lopding g
s
6 7 g9 10
kglon foy bl

v
o 200 300 400 500 600

ghba 4 byl b |
e mi . litrei .
:3004‘- :'3
:-200 :24—
:]OO«- :1
Lo L

— 2000
:150« :1500
:mo :10004_
:50 < -——500 =
:0 :0

. .
5 6 7 8 9
(o b R P ol S A
(2] \
30 40 50 - 60 70
e R B
© }
20+ 21 22 23 24
kgl e by o fiop
@ 50 60 70 80 90
(o R E T B
| litres
o, O
[ o =
—300 —3
£ L«
— 200 —2
i e &
— 100 — 1
L e
—Q L0

B i
700 150

L L -
600 100
LR :

500 50

= - -
L 400 Lo

cmi 1 |

20 30 40 50 60
il

by

litres

® 6 6 0 o6

-
=
- —
—0
50 100
o
0 150

o~

42 43 44 45 46
kgl vl dag il
6 700 800 900 1000
gb sl o b e b

200

100

Rl e e

1

=)

0 e R D R R
1

o




